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Note ¢ Answers may be written either in English or in Hindi; but the same medium should be
used throughout ﬁle paper. |
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Attempt any two parts from each question.

Each part carries 7% marks.
All the notations have their standard intérpretation.
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14 :‘(a) @) Ina goods market equilibrium in closed economy, 8 + TA- TR =1 + G,
' use this equation to show that a fiscal expansion will lead to an incomplete

crowding out effect. 2.3
(i) Show using AD-AS and IS-LM curves why tnoney is neutral in the classical
<. Supply case. : ‘ 5

P.T.O.
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(b) Using wage setting and price setting relétions, determine the equilibrium real wage é ' (@) What do you mean by natural rate of unemployment ? Derive Modified Phillip's
rate. Explain how these curves are affected by each of the following :  4.5+3 Cre. » 235
. . : | (b) ““Wage Indexation increases the effect of unemployment on inflation.” Explain this
() An increase in price of oil o !

statement. 7.5

(i) An increase in mark up. . ; _ o £ ) . o _
= d; + (¢) Explain Lucas 'Credibility' theory. In this context discuss Fisher's theory of nominal

ficit) affect price, output an _
(¢y How does a fiscal contraction (reduction in budget deficit) P P wage rigidity. ‘ 75
. . " ? 7.5 , A 3

interest rate, both in short run and medlum run in AD-AS model 7 : e (37) T RS @ D M TR % o TeeEe fRRTE 9%
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() AD-AS 3 ISIM T T I Fh qui, wwwww qw{ @ Tl e g @ w= it
ﬁ 48 % 7 _ (a) ()  Explain the following statement -
E—ﬂ 3 In Okun's law, an output growth rate of 1% above normal output growth rate
(N 1131@ ¥fén @ Fma [l Ha:dl w1 U L leads to only a 0.4% reduction in unemploymentr rate and a 0.4% reduction
Pt W Tuifa 'ﬁﬁfw grzmee fo Y Y& fefafes @ 3 in the rate of unemployment leads to only a 0.6% increase in employment
‘ _ rate. | ‘ 2.5+2
% JIfer ﬂa %’ ; . ' b (i) Suppose the Ph_i]ip‘s curve is given by :m, -7 =0.1-2z, -
() WA w wma 7 e : : where @ =7, ,
. : o .
X ’ : Suppose that inflation in year t-1 is zero. In year ¢ the authorities decide to
(ignﬁmﬁq@l . ol E ' J. TR
( L ~ keep the unemployment rate at 4% forever. Compute the rate of inflation for
(W) AD-AS ﬁr's'a T STeTHE o WM il oAl H, B o W vear f, t + 1, [ + 2. 3
gurfad &
a2 7 Wﬁ) Fod, SOEA d e I H ; P.T.0.
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: . ‘ (@) Discuss the effectiveness of monetary policy in a fixed and flexible exchange rate
(b) (1)~ Define Adaptive Expectation Hypothesis. How does this theoery allow us [ A

B reg_irﬁe in the presence of perfect capital mobility and fixed prices. 7.5

relate expected, unobservable variables to actual observabl i 4 '
e variables ? 4 (b)) (i) How can the automatic adjustment mechanism restore both internal and external

ii)  Di " : : i
(i6) Discuss any wo sources of Lucas's theory of Business Cycle. i balance if the economy is initially in less than full employment equilibrium and -

‘v

() DlSCLlSS the policy ineffectiveness proposition Wthh asserts that "any predictable per is ha\}ing a current account deficit ?
of money supply will have no effect on output, employment and other real vanablf (i) Explain the 'J' curve. - , 4.543
while only unpredictable money supply changes can affect output", 7 (&) Explain why, following a ‘monetary expansion, exchange rate always overshoots its
(37) () Ffafea w0 = AR _ new long run equilibrium value. S
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(a) Distinguish between the following exchange rate system :
Adjustable Pegs, Crawling Pegs and Managed Floating. : 7.5

() How does domestic money supply vis-a-vis foreign money supply determine the

kil ailfpllﬁl q@ R ? exchange rate in 'Monetary Approach to Exchange rate Determination' ? 15

(i) GEE & FoUE b% THgid & fEel [ HE ot == ﬁ'ﬁﬁ?l& (c) Discuss using suitable example, how do foreign exchange risks provide an opportunity
(m) #ifa gw_'ﬁﬂ JEE ® =l HL W @ wa & T “gar qfd a‘;b of. hedging and speculation in foreign exchange market. 7.5
mﬁfmmwm;ﬂwammaﬁmﬁiquﬁf ; P.T.O.
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(@) (i) Explain the concept of full employment budget surplus. ; _ 2.5

(if) -~ If consumption is negatively related to interest rate, how would the 1S curve be
affected. : 2.5

@ity If the demand for money is not responsive to the rate of interest in an economy,

how will this influence the LM curve. 2.5

(b) (i) What are ‘automatic stabilizers’ ? Explain. . 2.5
(if) Suppose money supply is positively related to interest rate. How would this affect

the LM curve ? 248

(iii) What is the ‘liquidily trap® 7 Explain. : 2:5
P.T.O.



